

# **CUSTOM MEAT PACKAGE**

## **ORDER FORM**

Every family is different—and so are your meals. That's why at **Manitoulin Meats**, you can **build your own custom meat package** from our product list, choosing exactly what you want and the quantities you need.

**Special Offer:** Orders over **\$250 receive 10% off**, and orders over **\$500 receive 15% off** the total order value. Discounts are applied to the final value of your custom meat package.

### **Instructions:**

1. Please browse our product list below. Choose the cuts and quantities you want. Prices are listed per pound, and final weights may vary slightly.
2. Submit your order form by **visiting the shop** or **emailing** **manitoulinmeatmarket@gmail.com**. The deadline to order before our Winter closure (February & March) is January 20, 2026.
3. Please allow 1-2 weeks for our team to prepare your custom order. All products are vacuum sealed to preserve freshness, extend freezer life, and make storage simple. You may pick up your package **fresh or freshly frozen. Enjoy!**

**Customer Name:** \_\_\_\_\_

**Phone/Email:** \_\_\_\_\_

# POULTRY

Item	Price/LB	Avg. Price Per Package	Quantity
Whole Chicken - Approx. 3-4 lbs	\$5.99	\$21.00	
Half Chicken (Lemon Pepper or Garlic Rosemary) Approx. 1-1.5 lbs	\$7.49	\$11.25	
Bone-In Chicken Breasts (Package of 2) Approx. 1.5-2 lbs	\$7.99	\$14.00	
Chicken Supreme (Individual Bone-In Breast Stuffed With Ham & Swiss Cheese) Approx. 1.25 lbs	\$10.99	\$13.75	
Stuffed Chicken (Individual Bone-In Breast Stuffed With Bread Stuffing & Mild Sausage) Approx. 1.25 lbs	\$9.49	\$11.75	
Boneless Chicken Breasts (Package of 2) Approx. 1.5 lbs	\$11.99	\$18.00	
Boneless Chicken Breasts (Lemon Pepper or Garlic Rosemary) (Package of 2) Approx. 1.5 lbs	\$12.99	\$19.50	
Chicken Legs (drumstick + thigh) (Package of 2) Approx. 1.25 lbs	\$6.49	\$8.00	
Chicken Thighs (Package of 4) Approx. 1.5 lbs	\$7.99	\$12.00	
Chicken Thighs - Garlic Rosemary, BBQ or Lemon Pepper (Package of 4) Approx. 1.5lbs	\$8.99	\$13.50	
Chicken Drumsticks (Package of 6) Approx. 1.5 lbs	\$6.49	\$9.75	
Chicken Drumsticks - Garlic Rosemary, BBQ or Lemon Pepper (Package of 6) Approx. 1.5lbs	\$7.49	\$11.25	
Chicken Wings - Approx. 1.5 lbs	\$8.49	\$12.75	

Chicken Wings (Lemon Pepper or BBQ) Approx. 1.5 lb	\$9.99	\$14.99	
Chicken Kabobs (Lemon Pepper or BBQ - (Package of 4) Approx. 1 lb	\$13.99	\$13.99	
Ground Chicken - Approx. 1 lb Package	\$9.49	\$9.49	
Ground Turkey - Approx. 1 lb Package	\$8.99	\$8.99	

## PORK

Item	Price/LB	Avg. Price Per Package	Quantity
Boneless Pork Chops (Package of 2) Approx. 1.5 lbs	\$7.99	\$6.00	
Sausage-Stuffed Pork Chops (Package of 2) Approx. 1.5 lbs	\$9.99	\$15.00	
Ground Pork - Approx. 1 lb Package	\$6.99	\$6.99	
Bacon (Approx. 1-1.25 lbs)	9.99	\$11.00	
Pork Loin or Shoulder Roast 3 lb/ 6lb or other	\$7.49	\$24 / \$48	
Stuffed & Seasoned Pork Loin Roast - 3 lb / 6 lb or other	\$9.99	\$30 / \$60	
Porketta Roast (Seasoned Pork Roast) 3lb / 6 lb / 9 lb	\$10.99	\$33 / \$66 / \$99	
Greek Style Pork Kabobs - (Package of 4) Approx. 1 lb	\$11.99	\$11.99	
Garlic Rosemary or BBQ Pork Chops (Package of 2) Approx. 1 lb	\$9.99	\$9.99	

<b>SAUSAGE</b>			
Mild (Package of 4) Approx. 1.5 lbs	\$7.99	\$12.00	
Medium (Package of 4) Approx. 1.5 lbs	\$7.99	\$12.00	
Hot (Package of 4) Approx. 1.5 lbs	\$7.99	\$12.00	
Honey Garlic (Package of 4) Approx. 1.5 lbs	\$8.99	\$13.50	
Tomato Cheddar (Package of 4) Approx. 1.5 lbs	\$8.99	\$13.50	
Porketta (Package of 4) Approx. 1.5 lbs	\$7.99	\$12.00	
Breakfast Sausage (Package of 6) Approx. 1.5 lbs	\$7.99	\$12.00	

## **BEEF**

Item	Price/LB	Avg. Price Per Package	Quantity
Ground Beef (Lean) Approx. 1 lb Package	\$10.99	\$10.99	
Ground Beef (Medium) Approx. 1 lb Package	\$9.99	\$9.99	
Stewing Beef Approx. 1 lb	\$13.99	\$13.99	
Blade Roast - 3 lb / 6 lb or other	\$14.99	\$45.00 / \$90.00	
Rump Roast - 3lb / 6 lb or other	\$13.99	\$42.00 / \$84.00	

Beef Tenderloin Steak - Approx. 5 oz. (0.33 lb) Per Steak	\$59.99	\$20.00	
Ribeye Steaks ~ 0.75 lb each	\$32.99	\$25.00	
Striploin Steaks ~ 0.75 lb each	\$31.49	\$23.00	
Prime Rib Roast Approx. 2.5-3 lbs	\$31.99	\$75- \$90	
Marrow Bones / Soup Bones (Package of 4) Approx. 2 lbs	\$4.49	\$9.00	
Beef Oxtail (Frozen Package of 4) Approx. 1 lbs	\$19.99	\$19.99	

Notes:

---



---



---



---